To Shenzhen Launch kataokevddel bynAig MoLd6TNTAG YuaAlopévn Bdon and avoieibwto yudAivo yudAivo
oLoNPOTPOYLA KAl KATAKL YIX TX CUCTANATA KIYKALOWHATOG HTAAKOVL amnd YuaAi.

XAPAKTHPIZTIKA-

Topmayng oyedblaopoc pe Baon, Kandkl Kat pmovAovia tonodétnong (1 Bideg Tv2rov / Bibeg KaBvotépnong)

Ma xprion pe 1/2 "kat 3/4" (12 kat 19 mm) ndyovg and yvaAi f 9/16 "kat 27/32" (13.52 kat 21,52 mm) EAXCUATOTOLNUEVO
YUOAL € MAQOTLKOTIOLNHEVO YUOAL YLa OUOKEVEG KIYKALBWHATOG.

YynArg moldtntog Kpduatog 316 and avofedwto ydAvBalta Ty tomoBétnan o€ y&Avpa, okvpddepa 1 E0AWo VIdOTPWHA



Auté Ta Bapéa 6GpTnruaki Bdon kat Kandxia EpyaoTe(Te e XELOKINTA KyKALBWHATA.

30 12,

M12*120
~|
R
o
T E———— s
100
Part No, Material Finish Body Bolt size
\ » 30x10; 30x25mm
* SF.30 * 40X10; 40x30mm | * M10X120 bolt

/ﬁ;’ = SF-40 =AISI304 = Satin * 50x12; 50x30mm * M10x72 wood screw
(¥4 = SF-50 =AISI316 =Mimor = 50x12; 50x50mm = M8x100 bolt

= SF-50A = silicon rubber gasket = M8 x72 wood screw
included
§, Part No. Material Finish Body Bolt size |
X = hollow type
o sraaz|" AlSI 304 = Satin = 38x7.5:38x38mm = M8x70 hexagonal
=AISI316  =Mimor = silicon rubber sorew

W

gasket included

Part No. Material ~ Finish Body Mounling plate size
i :
- = 50%10;50x30mm
« spsor |TAISIS04 | =Satn | o rubber » 260 GCaciomm

=AISI316 = Mimor gasket included






